The Law of Total Tricks (Part III)
I presented a hand to start this discussion. With nobody Vulnerable, a Brazilian champion held:


♠ AKQ86

♥ T763

♦ J8

♣ AT
This was the auction:


Branco

Opponent

Partner

Opponent



   1S


     2H


    2S


      4H

    ??
At the time I asked you to think about what you would do. Now that you’ve seen the LAW in action, can you find the right answer? Our expert bid 4S, (as many experts would) and got doubled. What does the LAW suggest? Branco could have been reasonably certain that his partner held exactly 3 spades and 1 heart. (With 4 spades or no hearts, he could have expected his partner to bid 4S himself). This suggests that total trumps was 8 + 8 or 16. If 4S was making (10 tricks) for +420, there was expectation that 4Hx would only take 6 tricks for +800. The whole deal:





♠ 7 4 2





♥ 5





♦ K T 9 7





♣ K 8 7 5 4


♠ J T 5 3




♠ 9


♥ A 9 8 4 2




♥ K Q J


♦ A Q





♦ 6 5 4 3 2


♣ 9 3


Branco


♣ Q J 6 2





♠ A K Q 8 6








♥ T 7 6 3






♦ J 8





♣ A T
After the lead of the Club Nine, Branco was faced with abundant losing options. The lead made it clear that he could never hope to establish the club suit. He won the Ace and led the Jack of Diamonds. West won the Ace and returned the Queen. Branco won in dummy and played a good diamond, sluffing a heart as West trumped. West got out with his remaining club. Branco won the King, and played dummy’s last diamond, pitching another heart. West ruffed again, and could not be prevented from winning the Ace of Hearts. Down one when 4Hx could have been defeated for perhaps 800. 
Let’s take a hand and look at it from Responder’s point of view. With everybody vulnerable, Responder holds:
♠ J832
♥ 6

♦ KJ52
♣ Q864  

and this is the auction:

Opener

   RHO

Responder

    LHO



   1S


     2H


      2S


      3H


  Pass


   Pass


      ??
Despite his minimum in high cards, instinct tells him to bid 3S, and so does the LAW. He knows that his side has 9 trumps and the opponents have at least 8. Using the LAW, he should ask himself, “What if they have 9?” If they have nine, there would be 18 totals trumps, and thus, 18 total tricks. We saw earlier that we should always bid 3 over 3 if there are 18 trumps.

But what if they have only 8 hearts? This means that that would be only 17 trumps. We also looked at this earlier. We saw that with 17 trumps, one side rates to make their 3 level contract, while the other side is only down one. That led us to the conclusion that it’s still okay to outbid the opponents on the 3 level if there were 17 trumps. Of course, if Responder had to guess which was more likely, he’d guess that there were 18 trumps, since he has a singleton. So, looking at four spades and one heart, Responder will certainly compete to 3 spades over 3 hearts. Now let’s look at the same hand from Opener’s perspective. Opener is looking at:

♠ KQT74
♥ K52
♦ AQ4
♣ T9

and he has heard:

Opener

   RHO

Responder

    LHO



   1S


     2H


      2S


      3H


    ??

Opener has flat 5-3-3-2 distribution, and is trying to decide what to do over their 3H bid. Should he bid 3S or pass the decision to his partner? We have just seen that if he passes, his partner will compete to three spades if he’s looking at 4 spades and 1 heart, because he’ll assume that there are 18 trumps. Even if responder is holding 4 spades and two hearts, he will bid further, assuming there are at least 17 trumps. Responder might even hold 3 spades and 1 heart, and bid 3S on the assumption that there were 17 trumps (9 hearts and 8 spades). Thus, Opener doesn’t need to think in terms of partner having 4 spades or a singleton heart since with those holdings he can be confident that partner will compete to 3 spades on his own.

Now we can start to “count” the trumps in order to make our own decision. From our side, we have 8 trumps (remember, if we have nine trumps, partner will know what to do). They have 8 trumps – (once again, if they have nine, partner will have a singleton and will know to bid on). From our point of view then, the total is 16 trumps which translates to 16 tricks! Earlier, we saw that with 16 trumps, we should not outbid the opponents at the 3 level. The most likely outcome is that both sides will have only 8 tricks, and bidding will turn a plus into a minus. This tells us to pass 3H, and leave the decision up to partner. This leads us to 2 rules:


With 17 trumps it is usually right to outbid them on the 3 level. Of course, you should consider the vulnerability and the form of scoring, but the rules for 16 and 18 trumps are pretty good ones to follow at all times!

You are the famous expert Mike Passell, playing in the 1979 Bermuda Bowl, against Giorgio Belladonna and the illustrious Italian “Blue Team”. It’s favorable vulnerability and Belladonna on your left, opens 1D. Your partner bids 1H, and your right hand opponent bids 1S. This is your hand:




♠ J93

♥ Q86
♦ A743
♣ A53

You make a conservative raise to 2H, but are soon faced with the following problem:

Belladonna (Italy)

   Brachman (USA)

Pittala (Italy)

   Passell (USA)


1D



 1H


        1S


2H


3C



Pass


      Pass


???

Whether or not you would have chosen to make a more aggressive 2D cue bid at your first bid, the final decision will essentially be the same. His partner almost certainly has only 5 hearts – (with 6, he’d have bid on to the 3 level himself). It’s conceivable that the opponents have 9 clubs, but unlikely. If you had to guess, you’d assume they have at most an 8 card fit, since partner would often bid 3H himself when holding a singleton club. 
This is the typical 8 and 8 situation that comes up all the time. The strength is evenly divided, and both sides have 8 trumps. Once one side goes to the 3 level, it doesn’t pay to bid on. If the 16 tricks are split 8 and 8 (as they often are), then bidding will turn a plus into a minus! Neither side can make a 3 level contract. Don’t be influenced by a high card maximum or minimum. Just base your decision on how many trumps there are, and remember that 16 trumps is not enough to bid 3 over 3. Passell, perhaps influenced by his extra high card strength, bid on to 3H which ended the auction. On the actual deal, there weren’t even 16 trumps:

♠ A 2





♥ T 5





♦ Q J 8 6


Passell


♣ K Q 9 7 2

Brachman


♠ J 9 3





♠ Q T 6


♥ Q 8 6




♥ K J 9 3 2


♦ A 7 4 3




♦ K 9


♣ A 5 3




♣ J 8 6





♠ K 8 7 5 4








♥ A 7 4






♦ T 5 2





♣ T 4
Brachman was held to 7 tricks in 3H (-100) instead of the +100 that could have been recorded against 3C. Even if NS had had one more club, there still wouldn’t have been enough trumps to bid 3 over 3. This decision “only” cost the USA 5 IMPS, but it’s the kind of decision that comes up day after day, and costs good players 5 IMPS time after time. 

A similar decision came up in an Allendale, NJ tournament, when National Champion Lisa Berkowitz held:




♠ Q5

♥ T854
♦ AKQ6
♣ A73

and heard her partner open a weak 2S. It was favorable vulnerability, and her RHO overcalled 3H. Lisa and her partner were playing a modern style, where a weak two bid at this vulnerability could be based on a 5 card suit (one of the reasons I am not an advocate of that system). She chose to bid 3S, meaning she ignored the LAW!
Even if her partner had a 6 card spade suit, her side would have only 8 trumps. Her partner was unlikely to have a void in hearts, and might even have a doubleton. If her partner held a singleton heart, it would indicate that there were only 8 trumps for the opponents. Eight for them, eight for us, making 16. We have already seen that we shouldn’t bid 3 over 3 with 16 trumps. Just think – if her partner had held only 5 spades or as many as 2 or 3 hearts, then there might be only 15 or even 14 trumps, making it that much more wrong to bid 3 over 3. 

This violation of the “Rule of 16” is committed by players of all levels every day.  Here’s another auction taken from the 1984 World Team Olympiad in Seattle. In a team match, East held:




♠ Q62

♥ Q65
♦ KQ65
♣ 987

and this was the auction:

West

   North

    East

    South



   
  1S

      2C


      2S

      3C

 
 Pass

     Pass

      ??

By now, you should know the answer to this one. Both Easts looked at their 3 small clubs and their maximum, and decided there was a good reason to bid 3S. Partner was 5-3-3-2 and they took 8 tricks. 3C would have also taken 8 tricks. Both teams went -50 for a push, instead of +50 for a 3 IMP gain.

Not really a terrible disaster, but by now you realize that this kind of decision, which comes up frequently, should become much easier for you at the table. You’ll be the one winning 3 IMPS here and 5 IMPS there, and those IMPS will add up in a hurry. 



South	West	North	East


 1NT	   P	 3NT	All Pass





ALWAYS outbid the opponents on the 3 level with 18 trumps





South	West	North	East


 1NT	   P	 3NT	All Pass





NEVER outbid the opponents on the 3 level with 16 trumps





South	West	North	East


 1NT	   P	 3NT	All Pass








